
cf=a= @)&@.)&# sf] aflif{s k|ult ljj/0f ;f/f+zdf  

cfDbfgL  

qm=;+ cfDbfgL lzif{s  cg'dflgt cfo oyfy{ cfo  k|ult k|ltzt  

1 s'n ah]6 365653950.00 346055574.09 94=64 

2 lgzt{ cg'bfg ?= 93255000.00 93255000. 100 

3 Zf;t{ cg'bfg ?= 88151000.00 76251000.00 86=50 

4 /fhZj jf+8kmf+8 ?= 150000.00 0 0 

5 cfGt/Ls cfo ?= 100000000.00 95020729.22 95=02 

6 cGo 24122186.00 22128147.00 91=73 

7 C0f 10005000.00 10003083.00 99=98 

8 p=ef]=;= 32000000.00 31426850.00 98=20 

9 ut jif{sf] c=Nof 17970764.00 17970764.87 100=00 

 

s'n vr{ oyf{y 

qm=;+= ljj/)f hDdf 
 s'n vr{  332860708.11 

1 lgzt{ cg'bfg  93255000.00 

2 z;t{ cg'bfg  76251000.00 

3 /fhZj af¤*kmf¤*  0 

4 cfGt/Ls / cGo  163354708.11 

vr{ k|ltzt cg'dflgt cfosf] 91.03 
 

aflif{s ah]6  

qm=;+= lzif{s  cg'dflgt  oyfy{ vr{  
1 k'¤lhut  298052950.00 267264233.15 
2 rfn'  67601000.00 65596474.96 

hDdf 365653950.00 332860708.11 
 

  



/fhZj afF8kmfF8 af6 k|fKt  

qm=;+= ljj/)f cg'dflgt  oyfy{  
1 /fhZj af¤*kmf¤* 150000.00 0 
2 #/hUuf /lhi <̂]zg  20000000.00 14921799.00 

 

a]?h' cj:yf  

? xhf/df  

qm=;+= ljj/)f /sd k|ltzt 
1 cf=a=2071.072 ;Ddsf] s'n a]?h'  46913855.68  
2 cf=a= 2070.071 ;Ddsf] s'n km%f}{^ . 35547825.00  
3 cf=a= 2072.073 df km%f}{^ /sd ?= 22180066.00  
4 cf=a= 2071.072 sf] yk a]?h' ;lxt s'n af¤sL a]?h'  54518179.68  
5 vr{sf] cg'kftdf a]?h'   16.37 

 

ef}lts k|ult  

ljj/)f OsfO{ nIo k|ult k|ult k|ltzt 
;*s u|fe]n ls=dL= 2=281 2=17 95Ü 
;*s sfnf]kq]  ,, 2=898 2=46 85 
;*s sfnf]kq] dd{t 
;Def/  

,,  3=497 3=497 100 

;fd'bflos ejg tyf 
ljBfno÷SofDk; ejg  

;+Vof  28 25 90 

sNe {̂  ;+Vof  19 18 95 
gbL lgoGq)f÷t^aGw  ;+Vof  7 4 50 
(n lgsf;  ld^/  16=532 14=05 85 

 

;8s tyf 9nsf] nut  

ljj/)f OsfO{ ut aif{ ;Ddsf]  rfn' aif{  hDdf  
sfnf]kq]  ls=dL= 48=841 2=898 51=739Ü 
u|fe]n  ,, 205=555 2=281 207=836 
(n ,,  40=975 16=532 57=507 
slRr ;*s  ,, 200 0 200 
gfnf  ,, 105 0 105 

 

of]hgf ljj/0f  

ljj/)f ;+Vof  nIo -ld^/_ k|ult  k|ult k|ltzt  
;*s sfnf]kq]  21 2898 2463=30 85 



;*s u|fe]n 15 2281 2166.95 95 
(n lgdf{)f  140 16532 14052.20 85 
k'n tyf sNe {̂ 19 0 18 95 
;fd'bflos ejg  28 0 25 90 
gbL lgoGq)f  7 0 4 50 
sfnf]kq] dd{t  8 0 7 90 
ljljw of]hgf 33 0 28 85 

 

nlIft ju{ tyf ;fdflhs ;dfj]zLs/0f tkm{  

ljj/0f ljlgof]lht /sd vr{ ?= 

afnaflnsf tk{m 5800000.00 5731000.64 

dlxnf tk{m 5800000.00 5770000.25 

blnt,cflbjfl; hghflt tk{m 4536000.00 4305001.23 

ckfË tkm{ 924000.00 877000.20 

lk5l8Psf] au{  924000.00 877000.19 

Ho]i7 gful/s tkm{ 840000.00 797000.45 

dw]zL  672000.00 637000.96 

d'l:nd  504000.00 478000.47 
 

;fdflhs ;'/Iff tkm{  

qm=;+ ljj/)f 
o; cf=a=df 
k|fKt u/]sf 

cfufdL cf=a=df k|fKt ug]{  

c_ a[$ eQf k|fKt ug]{ -cf}ifwL pkrf/ kfpg]_ 7750 4754 

cf_ ckfé eQf k|fKt ug]{ 231 295 

O_ Psn tyf ljwjf dlxnf eQf k|fKt ug]{ 1919 1920 

O{_ ljtl/t /sd a}+sx?af^ l/kf]^{ cfO{ g;s]sf]  

p_ cf= a= 2072.073 sf] nut s§f j*f sfof{noaf^ nut s§fug]{ AolQmx?sf] ljj/)f 
cfpg l(nf] ePsf 

 

AolQmut 36gf btf{  

hGdM      3692 

           5f]/f                     1967 

           5f]/L 1625 



d'To'M 706 

          k'?if 394 

          dlxnf 312 

a;fO{–;/fO{ kl/jf/ 1699 

ljjfx 1411 
;DjGw ljR5]b 19 
 

k|zf;g  

gful/stf l;kmfl/;  @$&^ 

k'hf{df kmf]6f] 6f+; l;kmfl/;  !!@# 

gftf k|dfl0ft  !)$^ 

gfd;f/L l;kmfl/; &^( 

df]xL nut s6\6f l;kmfl/;  @&# 

pBf]u btf{ l;kmfl/;  !$( 

;DktL d'Nof+sg l;kmfl/;  !#* 

cGo l;kmfl/;  *!!% 

hDdf  !$)*( 

 

3/gSzf  

3/af6f] l;kmfl/;  !)*$$ 

rf/ lsNnf k|dfl0ft l;kmfl/;  $$(^ 

ljB't h8fg l;kmfl/;  @$#% 

3/ sfod l;kmfl/;  (!! 

ljB't gfd;f/L  $!^ 

hDdf !(@#$ 

 

gSzf kf;sf] nflu kmfOn btf{  #$#% 

k|yd r/0f (() 

;DkGg @&)% 



3/ gSzf gfd;f/L #)& 

;h{ldg !#@( 

tnfyk @%) 

 

af?0f oGq  

qm=;+= ljj/0f  hDdf  s}lkmot  

3/  

 ! k'm;sf] 3/ !&(   

 @ Uff]7 u'jfln %!   

 # klSs 3/ #@   

$ Uof; $  

hDdf @^^  

cGo  

 ! pBf]u ) 
  

 @ uf]bfd @ 
  

 # k/fnsf] dfr  (! 
  

 $ uf8L  @ 
  

 % Dfflg; ) 
  

  h+un ) 
  

hDdf (%   

 



 

 

 

 

 

 

 

 

 



 

 

 

 


